Pegel Abentheuer
Ereignis35, HQ 1
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N-Summe: 11,52 mm
14 14 Scheitelabfluss: 3,62 m3s
12 4 + 12
Gesamtabfluss: mm
10 10 _ Q Ereignisbeginn: 2,35 mdis
=
b= Ereignisdauer: 11 Std.
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% Abflussbeiwert: 5 %
©
6T T6 £ N-Dauer: 4 st
A | A % max. N-intensitat: 4,64 mm/h
©
% mittl. N-intensitat: 2,88 mm/h
2 SSN— ] 2 Verzdgerungszeit: 1 Std.
04 Lo Vorfeuchte: sehr hoch
241002 251002 261002 27.10.02 28.10.02 Wetterlage: 29

Niederschlagsverteilung
EZi: Pegel Abentheuer

Gewaesser

N
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unkter 28,20
25,2 - 28,5
258,58 - 29,4
29,4 - 30,0
30,0 - 30,6
30,6 - 31,2
31,2-31,8
31,8-32,4
32,4 - 33,0
33,0 - 33,6
33,6 - 34,2
34,2 - 34,5
34,5 - 35,4
35,4 - 36,0
36,0 - 36,6
36,6 - 37,2
37,2 -37,8
37,8 - 34,4
35,4 - 39,0
39,0 - 39,6
(ber 39,60




